Chapter 05.05
Spline Method of Interpolation

After reading this chapter, you should be able to:
1. interpolate data using spline interpolation, and
2. understand why spline interpolation is important.

What is interpolation?

Many times, data is given only at discrete points such as (x,,v,), (x;,%,), --.... (e, oy)s
(x,,v,). So, how then does one find the value of y at any other value of x? Well, a

continuous function f (x) may be used to represent the n+1 data values with f (x) passing
through the »n +1 points (Figure 1). Then one can find the value of y at any other value of

x . This is called interpolation.

Of course, if x falls outside the range of x for which the data is given, it is no longer
interpolation but instead is called extrapolation.

So what kind of function f(x) should one choose? A polynomial is a common
choice for an interpolating function because polynomials are easy to

(A) evaluate,
(B) differentiate, and
(C) integrate
relative to other choices such as a trigonometric and exponential series.

Polynomial interpolation involves finding a polynomial of order n that passes
through the n+1 points. Several methods to obtain such a polynomial include the direct
method, Newton’s divided difference polynomial method and the Lagrangian interpolation
method.

So is the spline method yet another method of obtaining this n™ order polynomial.
...... NO! Actually, when n becomes large, in many cases, one may get oscillatory behavior
in the resulting polynomial. This was shown by Runge when he interpolated data based on a
simple function of

1

1+25x°
on an interval of [-1, 1]. For example, take six equidistantly spaced points in [-1, 1] and find
y at these points as given in Table 1.

y:
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Figure 1 Interpolation of discrete data.

Table 1 Six equidistantly spaced points in [-1, 1].

1
g YT sy
1.0 ] 0.038461
0.6 |0.1
02 |05
0.2 0.5
0.6 0.1
1.0 0.038461

Now through these six points, one can pass a fifth order polynomial
fi(x)=3.1378x107"" x* +1.2019x"* —=3.3651x 107" x* —=1.7308x> +1.0004x10™"' x +5.6731x 107",

-1<x<1
through the six data points. On plotting the fifth order polynomial (Figure 2) and the original
function, one can see that the two do not match well. One may consider choosing more
points in the interval [—1, 1] to get a better match, but it diverges even more (see Figure 3),
where 20 equidistant points were chosen in the interval [-1, 1] to draw a 19th order
polynomial. In fact, Runge found that as the order of the polynomial becomes infinite, the
polynomial diverges in the interval of —1< x <—0.726 and 0.726 < x < 1.

So what is the answer to using information from more data points, but at the same
time keeping the function true to the data behavior? The answer is in spline interpolation.
The most common spline interpolations used are linear, quadratic, and cubic splines.
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Figure 2 5th order polynomial interpolation with six equidistant points.

------- 5th Order Polynomial

Function 1/(1+25*x"2)

—--—- 19th Order Polynomial — 12th Order Polynomial

Figure 3 Higher order polynomial interpolation is a bad idea.
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Linear Spline Interpolation

Given (xo, Yo ), (xl, Y ), ...... ,(xn_l, Vo )(xn, yn), fit linear splines (Figure 4) to the data. This
simply involves forming the consecutive data through straight lines. So if the above data is
given in an ascending order, the linear splines are given by y, = f(x;).

y
(x3,13)
(x2,32)
(X0, ¥0)
> X
Figure 4 Linear splines.
f@) = fay+ LTI (o <rsn
X1 =X
:f(xl)‘*'M(x—xl), x, <x<x,
X, — X,
=+ DO ) (e <asn,
Note the terms of S
f(xi) B f(xi_l)
Xi = Xin

1

in the above function are simply slopes between x, ; and x,.
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Example 1

A robot arm with a rapid laser scanner is doing a quick quality check on holes drilled in a
15"x10" rectangular plate. The centers of the holes in the plate describe the path the arm
needs to take, and the hole centers are located on a Cartesian coordinate system (with the
origin at the bottom left corner of the plate) given by the specifications in Table 2.

Table 2 The coordinates of the holes on the plate.

x (in.) | y (in.)
2.00 7.2
4.25 7.1
5.25 6.0
7.81 5.0
9.20 3.5
10.60 5.0
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Figure 5 Location of the holes on the rectangle plate.

a) If the laser is traversing from x =2.00 to x =4.25 in a linear path, what is the value
of y at x =4.00 using linear splines?

b) Find the path of the robot if it follows linear splines.

c) Find the length of the path traversed by the robot following linear splines.
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Solution

a) Since we want to find the value of y at x =4.00, we need to choose the two data points
closest to x =4.00 that also bracket x =4.00 to evaluate it. The two points are x, = 2.00
and x, =4.25.
Then

x, =2.00, y(x,)=7.2

x, =425, y(x)=7.1
gives
y(xl)_y(xo)(

y(x)=y(x,)+ xX=x)
X — Xy
=72+ M(x —2.00)
4.25-2.00

Hence

y(x)=7.2-0.044444(x —2.00), 2.00 < x <4.25
At x =4,

v(4.00) = 7.2 -0.044444(4.00 — 2.00)

=7.11111in.

b) We have already obtained the linear spline connecting x = 2.00 and x =4.25.
y(x) =7.2-0.044444(x - 2.00), 2.00<x<4.25 (1)
The rest of the splines are as follows:
po) =71+ 29071 405
5.25-4.25
=7.1-1.1(x—4.25), 425<x<5.25 (2)
5.0-6.0
y(x)=6.0+ ~81-525 (x—-5.25)
=6.0-0.39063(x —5.25), 525<x<7381 3)

3.5-5.0
=50+ "20 (x_781
y) 920—7810 %V

= 5.0-1.0791(x—7.81), 7.81<x<9.20 @)
50-3.5
S35+ 2000 (190
Y 10609202
=3.5+1.0714(x —9.20), 920 < x <10.60 5)

c) The length of the robot’s path can be found by simply adding the length of the line
segments together. The length of a straight line from one point (x,,y,) to another point

(x,,»,) is given by \/(xl —-x,)° +(y, —¥,)° . Hence, the length of the linear splines from
x=2.00 to x=10.60 is
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L=1J(425-2.00)% +(7.1-7.2)* ++/(525-4.25)> + (6.0 7.1)*
+4(7.81-5.25)> +(5.0-6.0)* ++/(9.20 - 7.81)? + (3.5—-5.0)°

+4/(10.60—9.20) + (5.0 —3.5)
=10.584

Linear spline interpolation is no different from linear polynomial interpolation. Linear splines
still use data only from the two consecutive data points. Also at the interior points of the data,
the slope changes abruptly. This means that the first derivative is not continuous at these
points. So how do we improve on this? We can do so by using quadratic splines.

Quadratic Splines

In these splines, a quadratic polynomial approximates the data between two consecutive data
points. Given (x,,, h(x,, ) hoerr (X, 1> 3,1 1 (x,, ¥, ), fit quadratic splines through the data.
The splines are given by

f(x)=ax*+bx+c, X, <x<x
=a,x’ +b,x+c,, x, <x<x,
=ax’ +bx+c,, X, , Sx<x,

So how does one find the coefficients of these quadratic splines? There are 3n such
coefficients

a,, i=L12,..,n
b,i=12,..,n
¢, i=L2,..,n

To find 3n unknowns, one needs to set up 3n equations and then simultaneously solve them.
These 3n equations are found as follows.
1. Each quadratic spline goes through two consecutive data points

2
a,x,” +bxy+c, = f(xy)

2
ax,” +bx +c¢ = f(x)

2
a;x;_y +bixi—l +¢ = f(xi—l)

2
a;x;” +bx; +c, = f(x,)

2
anxnfl + bnxn—l + cn = f(xn—l)
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ax,’+bx, +c, = f(x,)

n-"n
This condition gives 2nr equations as there are n quadratic splines going through two
consecutive data points.
2. The first derivatives of two quadratic splines are continuous at the interior points. For
example, the derivative of the first spline

a,x’ +bx+c,
is
2a,x +b,
The derivative of the second spline
a,x’ +b,x+c,
is
2a,x+b,
and the two are equal at x = x, giving
2a,x, +b, =2a,x, + b,
2a,x, +b, —2a,x, —b, =0
Similarly at the other interior points,
2a,x, +b, —2a,x, —b, =0

2a,x; +b, -2a,,x;,—b,, =0

2’an—l‘xn—l + bn—l - 2anxn—l - bn = O

Since there are (n—1) interior points, we have (n—1) such equations. So far, the total
number of equations is (2n)+(n—1)=(3n—-1) equations. We still then need one more

equation.
We can assume that the first spline is linear, that is
a, =0

This gives us 3n equations and 3n unknowns. These can be solved by a number of
techniques used to solve simultaneous linear equations.

Example 2

A robot arm with a rapid laser scanner is doing a quick quality check on holes drilled in a
15"x10" rectangular plate. The centers of the holes in the plate describe the path the arm
needs to take, and the hole centers are located on a Cartesian coordinate system (with the
origin at the bottom left corner of the plate) given by the specifications in Table 3.
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Table 3 The coordinates of the holes on the plate.

x (in.) y (in.)
2.00 7.2
4.25 7.1
5.25 6.0
7.81 5.0
9.20 3.5
10.60 5.0

a) Find the length of the path traversed by the robot using quadratic splines.
b) Compare the answer from part (a) to the linear spline result and a fifth order
polynomial result.

Solution

a) Since there are six data points, five quadratic splines pass through them.

y(x)=ax’ +bx+c, 2.00 < x<4.25
= a,x’ +b,x+c,, 425<x<525
:a3x2+b3x+03> 525<x<781
=a,x’ +bhx+c,, 7.81<x<9.20
=a;x’ +bhyx+c, 9.20 < x <10.60

The equations are found as follows.
1. Each quadratic spline passes through two consecutive data points.

a,x” +b,x +c, passes through x =2.00 and x =4.25.
a,(2.00)* +5,(2.00) +¢c, =7.2
a,(425)* +5,(425)+¢, =7.1

a,x” +b,x +c, passes through x =4.25 and x =5.25.
a,(4.25)° +b,(4.25)+c, =7.1
a,(5.25)* +b,(5.25)+c, =6.0

a,x’ +b,x +c, passes through x =525 and x=7.81.
a,(5.25)* +b,(5.25) + ¢, = 6.0
a,(7.81)° +b,(7.81)+ ¢, = 5.0

a,x’ +b,x +c, passes through x =7.81 and x =9.20.
a,(7.81)° +b,(7.81)+c, =5.0
a,(9.20)* +5,(9.20)+c, =3.5

(1)
)

3)
4

)
(6)

(7)
(8)



a,x’ +byx +c, passes through x=9.20 and x =10.60.
a5(9.20)* +5,(9.20) + c5 =3.5
a,(10.60)* +b,(10.60) + ¢; = 5.0

2. Quadratic splines have continuous derivatives at the interior data points.

At x=4.25
2a,(4.25)+b, —2a,(4.25)-b, =0

At x=5.25
2a,(5.25)+ b, —2a,(5.25)-b, =0

At x=7.81
2a,(7.81)+ b, —2a,(7.81)—-b, =0

At x=9.20
2a,(9.20)+b, —2a,(9.20)— b, =0

3. Assuming the first spline a,x” +b,x + ¢, is linear,

a, =0
[ 4 2 1 0 0 0 0 0 0 0 0 0 0 0
18063 425 1 0 0 0 0 0 0 0 0 0 0 0
0 0 0 18.063 425 1 0 0 0 0 0 0 0 0
0 0 0 27563 525 1 0 0 0 0 0 0 0 0
0 0 0 0 0 0 27563 525 1 0 0 0 0 0
0 0 0 0 0 0 6099 781 1 0 0 0 0 0
0 0 0 0 0 0 0 0 0 6099% 781 1 0 0
0 0 0 0 0 0 0 0 0 8464 92 1 0 0
0 0 0 0 0 0 0 0 0 0 0 0 84.64 92
0 0 0 0 0 0 0 0 0 0 0 0 11236 10.6
8.5 1 0 -85 -1 0 0 0 0 0 0 0 0 0
0 0 0 105 1 0 -105 -1 0 0 0 0 0 0
0 0 0 0 0 0 1562 1 0 -1562 -1 0 0 0
0 0 0 0 0 0 0 0 0 184 1 0 —-184 -1
1 0 0 0 0 0 0 0 0 0 0 0 0 0

Solving the above 15 equations gives the 15 unknowns as

i a, b, c,

1 0 —0.044444 | 7.2889
2 | -1.0556 8.9278 |-11.777
3 | 0.68943 —9.3945 | 36.319
4 | -1.7651 28.945 | -113.40
5 3.2886 —-64.042 | 314.34
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Therefore, the splines are given by

y(x) = —0.044444x + 7.2889, 200<x=<4.25
=—1.0556x" +8.9278x —11.777, 425<x<5.25
=0.68943x” —9.3945x +36.319, 525<x <781
= —1.7651x> +28.945x —113.40, 7.81<x<9.20
=3.2886x" —64.042x +314.34, 9.20< x <10.60
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Figure 6 Fifth order polynomial to traverse points of robot path (using
direct method of interpolation).

The length of a function y = f(x) from a to b is given by

b )V
L= I 1+ (_y) dx
/ dx
In this case, f(x) is defined by five separate functions a =2.00 to » =10.60

Y _ i(— 0.044444x +7.2889), 200<x<4.25
dx dx

- a]i(—l.ossm2 +8.9278x—11.777)  4.25<x<525

X
- di(0.68943x2 ~9.3945x+36319)  5.25<x<78l
X

= L (C1.7651x> +28.945x~113.40)  7.81<x<9.20

dx
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- 6%(3.288@2 ~64.042x+31434)  9.20<x<10.60
X

4.25 2 5.25 2 2
le+dd+fl+d d+I1+dy dx
dx dx dx

2.00 4.25 5.25

9.20 d 2 10.60 d
+ I 1+( J dx + J 1+( j dx
dx dx

7.81 9.20

4.25 525

= [ \1+(-0.04444 dr + [ 1+ (-2.1111x+8.9278) dx

2.00 4.25

7.81 9.20

+ [ 1+(13788x-9.3945) dv + [ y/1+(~3.5302x - 28.945) dx

525 7.81
10.60

+ [ J1+(6.5772x0 - 64.042) dx
9.20
= 2.2522+1.5500 +3.6595 + 2.6065 + 3.8077
~13.876

b) We can find the length of the fifth order polynomial result in a similar fashion to the
quadratic splines. In this case, we do not need to break the integrals into five intervals. The
fifth order polynomial result through the six points is given by

y(x) =-30.898 + 41.344x —15.855x” +2.7862x" — 0.23091x* +0.0072923x°,

2.00<x<10.6
Therefore,

L= IH(Z)J dx

10.60

= | J1+(41.344-31.710x +8.3586x° - 0.92364x" +0.03646 1x* | dx

2.00

=13.123

quadratic spline is

x100

| 13876 |
=0.23724%

polynomial and quadratic spline is

| 13876 | <100
=0.054239%



Spline Method

INTERPOLATION

Topic Spline Method of Interpolation

Summary Textbook notes on the spline method of interpolation
Major Computer Engineering

Authors Autar Kaw, Michael Keteltas

Date November 11, 2012

Web Site  http://numericalmethods.eng.usf.edu




	Chapter 05.05
	Spline Method of Interpolation
	What is interpolation?
	Example 1
	Solution
	Quadratic Splines
	Example 2
	Solution


<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (GRACoL2006_Coated1v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Warning

  /CompatibilityLevel 1.5

  /CompressObjects /Off

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages false

  /CreateJobTicket false

  /DefaultRenderingIntent /RelativeColorimetric

  /DetectBlends false

  /DetectCurves 0.0000

  /ColorConversionStrategy /LeaveColorUnchanged

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams true

  /MaxSubsetPct 1

  /Optimize true

  /OPM 1

  /ParseDSCComments false

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage false

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness false

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Preserve

  /UCRandBGInfo /Remove

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages false

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.00000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages false

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.00000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages false

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.00000

  /EncodeMonoImages true

  /MonoImageFilter /FlateEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile (GRACoL2006_Coated1v2)

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<

    /ENU ([Based on 'Lulu'] Use these settings to create Adobe PDF documents best suited for Lulu's printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 4.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /BleedOffset [

        0

        0

        0

        0

      ]

      /ConvertColors /NoConversion

      /DestinationProfileName (GRACoL2006_Coated1v2)

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /ClipComplexRegions true

        /ConvertStrokesToOutlines false

        /ConvertTextToOutlines false

        /GradientResolution 300

        /LineArtTextResolution 1200

        /PresetName ([High Resolution])

        /PresetSelector /HighResolution

        /RasterVectorBalance 1

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MarksOffset 6

      /MarksWeight 0.250000

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PageMarksFile /RomanDefault

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

    <<

      /AllowImageBreaks true

      /AllowTableBreaks true

      /ExpandPage false

      /HonorBaseURL true

      /HonorRolloverEffect false

      /IgnoreHTMLPageBreaks false

      /IncludeHeaderFooter false

      /MarginOffset [

        0

        0

        0

        0

      ]

      /MetadataAuthor ()

      /MetadataKeywords ()

      /MetadataSubject ()

      /MetadataTitle ()

      /MetricPageSize [

        0

        0

      ]

      /MetricUnit /inch

      /MobileCompatible 0

      /Namespace [

        (Adobe)

        (GoLive)

        (8.0)

      ]

      /OpenZoomToHTMLFontSize false

      /PageOrientation /Portrait

      /RemoveBackground false

      /ShrinkContent true

      /TreatColorsAs /MainMonitorColors

      /UseEmbeddedProfiles false

      /UseHTMLTitleAsMetadata true

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [1200 1200]

  /PageSize [612.000 792.000]

>> setpagedevice



